
MATHS

BOOKS - UNIQUE MATHS (HINGLISH)

TRIGONOMETRY

Practice Test 6 1

1. If , find the vales of .

Watch Video Solution

sin θ =
7

25
cos θ and tan θ

2. If  then find the values of  and 

Watch Video Solution

tan θ =
3

4
sec θ cos θ

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Xx2zwjxlPaWT
https://dl.doubtnut.com/l/_3fO535NqfkJe


3. If , find the values of .

Watch Video Solution

cot θ =
40

9
cos ecθ and sin θ

4. If , find the values of  and 

.

Watch Video Solution

5 sec θ − 12 cos ecθ = 0 sec θ, cos θ

sin θ

5. If , find tha value of .

Watch Video Solution

tan θ = 1
sin θ + cos θ

sec θ + cos ecθ

https://dl.doubtnut.com/l/_3fO535NqfkJe
https://dl.doubtnut.com/l/_aEESYoTyDBqp
https://dl.doubtnut.com/l/_ZKaqfOsk8hgP
https://dl.doubtnut.com/l/_SRzdNZwUmPaI


6. Prove that: 

Watch Video Solution

+ cos θ = sec θ.
sin2 θ

cos θ

7. Prove that: 

Watch Video Solution

cosθ(1 + tan2 θ) = 1

8. Prove that : 

Watch Video Solution

√ = sec θ − tan θ
1 − sin θ

1 + sin θ

https://dl.doubtnut.com/l/_93PdEWcrhbfQ
https://dl.doubtnut.com/l/_eTNO2wcRPJqv
https://dl.doubtnut.com/l/_wfUwnqdHUlgZ


9. Prove that: 

.

Watch Video Solution

(sec θ − cos θ)(cot θ + tan θ) = tan θ sec θ

10. Prove that: 

.

Watch Video Solution

cot θ + tan θ = cos ecθ sec θ

11. Prove that 

Watch Video Solution

= sec θ + tan θ
1

sec θ − tan θ

https://dl.doubtnut.com/l/_jNc6OU661N1d
https://dl.doubtnut.com/l/_FI04IywtMdN5
https://dl.doubtnut.com/l/_ZM1sTZz0w3Gl


12. Prove that: 

.

Watch Video Solution

sin4 θ − cos4 θ = 1 − 2 cos2 θ

13. Prove that 

Watch Video Solution

sec θ + tan θ =
cos θ

1 − sin θ

14.  then prove that 

Watch Video Solution

tan θ + = 2
1

tan θ
tan2 θ + = 2

1

tan2 θ

https://dl.doubtnut.com/l/_mnuPAzjd6zRk
https://dl.doubtnut.com/l/_7nVBgSa124Xa
https://dl.doubtnut.com/l/_SKj6F6oVmNu3


Practice Test 6 2

15. Prove that: 

.

Watch Video Solution

+ = sin A cos A
tan A

(1 + tan2 A)
2

cos A

(1 + cot2 A)
2

16. Prove that: 

.

Watch Video Solution

sec4 A(1 − sin4 A) − 2 tan2 A = 1

17. Prove: 

Watch Video Solution

=
tan θ

sec θ − 1

tan θ + sec θ + 1

tan θ + sec θ − 1

https://dl.doubtnut.com/l/_GQP06f7OVlGZ
https://dl.doubtnut.com/l/_Y8saXsZvAHQj
https://dl.doubtnut.com/l/_YsKuUmc1SMQh


1. A person is standing at a distance of 80 m from a church

looking at its top. The angle of elevation is of . Find the

height of the church.

Watch Video Solution

45∘

2. From the top of a lighthouse, an observer looking at a boat

makes an angle of depression of . If the height of the

lighthouse is , then find how far is the boat from the

lighthouse. 

Watch Video Solution

60∘

90m

(√3 = 1.73)

https://dl.doubtnut.com/l/_oM6DGSdoWHro
https://dl.doubtnut.com/l/_GH6NuX1B2pUM


3. Two buildings are facing each other on either side of a road

of width 12m. Form the top of the first building , which is 10m.

High, the angle of elevation of the top of the second is .

What is the height of the second building?

Watch Video Solution

60∘

4. Two poles of heights 18 meter and 7 meter are erected on a

ground. The length of the wire fastened at their tops in 22

meter. Find the angle made by the wire with the horizontal.

Watch Video Solution

5. A storm broke a tree and the treetop rested 20 m from the

base of the tree, making an angle of  with the horizontal.60∘

https://dl.doubtnut.com/l/_XcGtDIefFfxE
https://dl.doubtnut.com/l/_s3C6W5uPSelm
https://dl.doubtnut.com/l/_I6pFlX9iOzob


Problem Set

Find the height of the tree.

Watch Video Solution

6. A kite is flying at a height of 60 m above the ground. The

string arrached to the kite is temporarily tied to a point on the

ground. The inclination of the string with the ground is .

Find the length of the string, assuming that there is no slack in

the string.

Watch Video Solution

60∘

1.  = ?sin θ. cos ecθ

https://dl.doubtnut.com/l/_I6pFlX9iOzob
https://dl.doubtnut.com/l/_4abOzlCtiIfE
https://dl.doubtnut.com/l/_oAGaKgzJVhix


A. 1

B. 0

C. 

D. 

Answer: A

Watch Video Solution

1

2

√2

2. …….

A. 

B. 

C. 

D. 

cosec45∘ =

1

√2

√2

√3

2

2

√3

https://dl.doubtnut.com/l/_oAGaKgzJVhix
https://dl.doubtnut.com/l/_F3yn96dt51Hb


Answer: B

Watch Video Solution

3.  = ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 + tan2 θ

cot2 θ

cos ec2θ

sec2 θ

tan2 θ

https://dl.doubtnut.com/l/_F3yn96dt51Hb
https://dl.doubtnut.com/l/_VBNFHRICbv2e


4. When we see at a higher level, from the horizontal line, angle

formed is..

A. Angle of elevation

B. Angle of depression

C. Straight angle

D. Angle of elevation

Answer: A

Watch Video Solution

5. If , ffind the value of  using trigonometric

identity.

Watch Video Solution

sin θ =
11

61
cos θ

https://dl.doubtnut.com/l/_LmdyhlmVFqf0
https://dl.doubtnut.com/l/_SP5NFGSQMSET


6. If , find the values of other trigonometric ratios.

Watch Video Solution

tan θ = 2

7. If , find the values of other trigonometric ratios.

A. q

B. 

C. 

D. 

Answer: 

Watch Video Solution

sec θ =
13

12

sin θ =
5

13

https://dl.doubtnut.com/l/_SP5NFGSQMSET
https://dl.doubtnut.com/l/_6oTyRkt5sOpw
https://dl.doubtnut.com/l/_Ky7XVHGW1YCO
https://dl.doubtnut.com/l/_8PoPUeLLzQ1C


8. Prove that : 

Watch Video Solution

sec θ(1 − sin θ)(sec θ + tan θ) = 1

9. Prove that 

Watch Video Solution

(sec θ + tan θ)(1 − sin θ) = cos θ

10. Prove the following: 

Watch Video Solution

sec2 θ + cos ec2θ = sec2 θ × cos ec2θ

https://dl.doubtnut.com/l/_8PoPUeLLzQ1C
https://dl.doubtnut.com/l/_v1pmNO5oAVs6
https://dl.doubtnut.com/l/_hhIhwXRC5fPT


11. Prove the following: 

Watch Video Solution

cot2 θ − tan2 θ = cos ec2θ − sec2 θ

12. Prove that : 

Watch Video Solution

tan4 θ + tan2 θ = sec4 θ − sec2 θ

13. Prove that 

Watch Video Solution

+ = 2 sec2 θ
1

1 − sin θ

1

1 + sin θ

https://dl.doubtnut.com/l/_bb9i2HqGupvb
https://dl.doubtnut.com/l/_tGemeM83auJW
https://dl.doubtnut.com/l/_s4efxVsv8reu


14. Prove the following: 

Watch Video Solution

sec6 x − tan6 x = 1 + 3 sec2 x × tan2 x

15. Prove that : 

Watch Video Solution

=
tan θ

sec θ + 1

sec θ − 1

tan θ

16. Prove the following: 

Watch Video Solution

= sec2 θ + tan θ
tan3 θ − 1

tan θ − 1

https://dl.doubtnut.com/l/_xYSZE3SMb0QQ
https://dl.doubtnut.com/l/_uchkIFEqSUUj
https://dl.doubtnut.com/l/_4zwpurl39vJC


17. Prove that 

Watch Video Solution

= .
sin θ − cos θ + 1

sin θ + cos θ − 1

1

(sec θ − tan θ)

18. A boy standing at a distance of 48 meters from a building

observes the top of the building and makes an angle of

elevation of . Find the height of the building .

Watch Video Solution

30∘

19. From the top of a lighthouse, an observer looking at a boat

makes an angle of depression of . If the height of the

lighthouse is , then find how far is the boat from the

60∘

90m

https://dl.doubtnut.com/l/_s9lJip91sdoc
https://dl.doubtnut.com/l/_Qi9bOiUNNHG6
https://dl.doubtnut.com/l/_SKZvDjJoOMJC


lighthouse. 

Watch Video Solution

(√3 = 1.73)

20. Two building are facing each other on a road of width 15

metre. From the top of the first building, which is 12m hight,

the angle of elevation of the top of the second is found to be

. What is the height of the second building

Watch Video Solution

30∘

21. A ladder on the platform of a firebrigade van can be

elevated at an angel of  to the maximum. The length of the

ladder can be extended upto .If the platform is  above

70∘

20m 2m

https://dl.doubtnut.com/l/_SKZvDjJoOMJC
https://dl.doubtnut.com/l/_WihRbLEkTRCH
https://dl.doubtnut.com/l/_Y3laB3MIbGIE


Hots Solved

the ground, find the maximum height from the ground upto

which the ladder can reach 

Watch Video Solution

(sin 70∘ = 0.94)

22. While landing at an airport, a pilot made an angle of

derpession of . Average speed of the plane was .

The plane reached the ground after 54 seconds. Find the

height at which the plane was when it started landing. 

Watch Video Solution

20∘ 200km /h

(sin 20∘ = 0.342)

https://dl.doubtnut.com/l/_Y3laB3MIbGIE
https://dl.doubtnut.com/l/_KWtOKAnVjpAd


1. Prove that 

 


=2 cosec x

Watch Video Solution

+
1 + sin x − cos x

1 + sin x + cos x

1 + sin x + cos x

1 + sin x − cos x

2. Prove : 

Watch Video Solution

+ = 1 + sin θ cos θ
cos2 θ

1 − tan θ

sin3 θ

sin θ − cos θ

3. A person standing on the bank of a river observes that the

angle of elevation of the top of a tree standing on the

opposite bank is . When he moves 40 m away from the

bank, he finds the angle of elevation to be . Find the height

of the tree and the width of the river. 

60∘

30∘

(√3 = 1.73)

https://dl.doubtnut.com/l/_FHmoTgUEn5gM
https://dl.doubtnut.com/l/_5HsuCjhBKYBt
https://dl.doubtnut.com/l/_TnrHgiolmP3r


Watch Video Solution

4. The angle of elevation of cloud from a point 60 m above a

lake is  and the angle of depression of the reflection of

cloud in the lake is  . Find the height of the cloud .

Watch Video Solution

30∘

60∘

5. A straight highway leads to the foot of a tower. A man

standing at the top of the tower observes a car at an angle of

depression of 30°, which is approaching the foot of the tower

with a uniform speed. Six seconds later, the angle of

depression of the car is found to be 60°. Find the time taken by

the car to reach the foot of the tower from this point

Watch Video Solution

https://dl.doubtnut.com/l/_TnrHgiolmP3r
https://dl.doubtnut.com/l/_1wh7mJdevoqE
https://dl.doubtnut.com/l/_uQSvOCHb9ilF


6. A man on a cliff observes a boat at an angle of depression

 which is sailing towards the shore to the point

immediately beneath him. Three minutes later the angle of

depression of the boat is found to be . Assuming that the

boat sails at a uniform speed, determine how much more time

it will take to reach the shore.

Watch Video Solution

30∘

60∘

7. A bird was flying in a line parallel to the ground from north

to south at a height of 2000 metres. Tom, standing in the

middle of the field, first he observed the bird in the north at an

angle of  . After 3 min, he again observed in the south at an

angle of . find the speed of the bird in km per hour. 

30∘

45∘

(√3 = 1.73)

https://dl.doubtnut.com/l/_uQSvOCHb9ilF
https://dl.doubtnut.com/l/_ES43NguXvBuF
https://dl.doubtnut.com/l/_I1F1mgc4pzQa


Unique Practice Session

Watch Video Solution

8. In a right angled triangle ABC,  and the value of 

 . Find the perimeter of 

 if AC = 3

View Text Solution

m∠A = 90∘

=
5 sin2 B + 7 cos2 C + 4

3 + 8 tan2 60

7
27

△ ABC

9. Prove that

Watch Video Solution

(sin θ + cos θ)(cos ecθ − sec θ) = cos ecθ. sec θ − 2 tan θ

https://dl.doubtnut.com/l/_I1F1mgc4pzQa
https://dl.doubtnut.com/l/_RgLOwzJkKLTu
https://dl.doubtnut.com/l/_cc92qC1DbbhP


1. The value of  is ……

A. 

B. 1

C. 0

D. Not defined

Answer: C

Watch Video Solution

cos 90∘

−1

2. If , the value of  is …..

A. 

B. 

√3 tan θ = 3 sin θ sec θ

√3

3

3

√3

https://dl.doubtnut.com/l/_65uwEWplkfzl
https://dl.doubtnut.com/l/_IYGEp8cHfpRx


C. 

D. 

Answer:

Watch Video Solution

3√3

√3

3

3√3

3. If , then cos x = ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin x =
3

4

2

3

√3

2

√7
4

1

2

https://dl.doubtnut.com/l/_IYGEp8cHfpRx
https://dl.doubtnut.com/l/_l5X5gDIIdXBR


4. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ = ?
1

1 + sin θ

1

1 − sin θ

sec2 θ

2 sec2 θ

cos ec2θ

2 cos ec2θ

5. If 

A. 

cos θ =  then θ
1

√2

30∘

https://dl.doubtnut.com/l/_l5X5gDIIdXBR
https://dl.doubtnut.com/l/_3vm3lVlJlikd
https://dl.doubtnut.com/l/_uHkjVaP9DB5z


B. 

C. 

D. 

Answer: B

Watch Video Solution

45∘

60∘

90∘

6. If  than tan A = ?

A. 

B. 

C. 

D. 

Answer: B

cos A =
4
5

3

5

3

4

4
3

5

3

https://dl.doubtnut.com/l/_uHkjVaP9DB5z
https://dl.doubtnut.com/l/_Udztpq2VVNxy


Watch Video Solution

7. If a pole height 6m casts a shadow m long on the

ground, then the sun's elevation is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2√3

60∘

45∘

30∘

90∘

8. if  , find the value of sin θ =
5

13
cos θ

https://dl.doubtnut.com/l/_Udztpq2VVNxy
https://dl.doubtnut.com/l/_jnQ3VIZKTcYa
https://dl.doubtnut.com/l/_0Z6m6UJ0xoDF


Watch Video Solution

9. Write the
maximum and minimum values of 
.

Watch Video Solution

cos θ

10. If 
and 
 , then what
 is the value of 


?

Watch Video Solution

tan A =
3

4
A + B = 90o

cot B

11. Write the
value of 
.

Watch Video Solution

cot2 θ −
1

sin2 θ

https://dl.doubtnut.com/l/_0Z6m6UJ0xoDF
https://dl.doubtnut.com/l/_MvsPQtRWpJGG
https://dl.doubtnut.com/l/_w6uWJMv1vKkK
https://dl.doubtnut.com/l/_R05BWD5pyKyq


12. If , what is the value of 

Watch Video Solution

sin θ =
4
5

cot θ + cos ecθ = ?

13. The value of  is ……

Watch Video Solution

cot2 θ − 9 cos ec2θ

14. What is the value of

Watch Video Solution

(1 + tan2 θ)(1 − sin θ)(1 + sin θ) = ?

15. If 
, find the
value of 
.

Watch Video Solution

cos A =
7

25
tan A + cot A

https://dl.doubtnut.com/l/_p2At5AZPcgLH
https://dl.doubtnut.com/l/_6M4vAmbAHhvi
https://dl.doubtnut.com/l/_8MhaOYG9LBG5
https://dl.doubtnut.com/l/_8mG2tMiKteDh


Watch Video Solution

16. If  , then find the value of .

Watch Video Solution

sin θ =
20

29
cos θ

17. If  then find the value of .

Watch Video Solution

sec θ =
25

7
tan θ

18. Prove that 

Watch Video Solution

√sec2 θ + cosec2θ = tan θ + cot θ.

https://dl.doubtnut.com/l/_8mG2tMiKteDh
https://dl.doubtnut.com/l/_0pyxYL8CWyba
https://dl.doubtnut.com/l/_GmcK4SP5GCxE
https://dl.doubtnut.com/l/_dK2mRxWGybw2


19. If 
, prove
that 

Watch Video Solution

sin θ + sin2 θ = 1 cos2 θ + cos4 θ = 1

20. Prove: 

Watch Video Solution

=
cos θ

1 − sin θ

1 + sin θ

cos θ

21. सिद्ध कीजिए कि : 

Watch Video Solution

sin2 θ + cos4 θ = cos2 θ + sin4 θ

22. If 
, find the
value of 
.

Watch Video Solution

tan θ =
4

5

cos θ − sin θ

cos θ + sin θ

https://dl.doubtnut.com/l/_ZB1frAP4E5qS
https://dl.doubtnut.com/l/_d1hm9oZ54aR6
https://dl.doubtnut.com/l/_rvxjdry0xOX6
https://dl.doubtnut.com/l/_yFf35kRh1Vlc


23. If , write the value of 

Watch Video Solution

cos ecθ − cot θ = α cos ecθ + cot α

24. If , then 

Watch Video Solution

tan θ = 1 =
sin θ + cos θ

sec θ + cos ecθ

25. त्रिकोणमितीय सर्वसमिकाओं को सिद्ध करो : 

Watch Video Solution

− = −
1

cos ecA − cot A

1

sin A

1

sin A

1

cos ecA + cot A

26. Prove that
√ = sec θ + tan θ
1 + sin θ

1 − sin θ

https://dl.doubtnut.com/l/_EiRTmx6a4uSI
https://dl.doubtnut.com/l/_77EokP06cW5O
https://dl.doubtnut.com/l/_Y75I6KOHnzOe
https://dl.doubtnut.com/l/_ZQzFKoV3JVAD


Watch Video Solution

27. The length
of the shadow of a tower standing on level plane

is found to be 
metres
 longer when the suns altitude is 

than when
 it was 
 . Prove
 that the height of tower is


metres.

Watch Video Solution

2x 30o

45o

x(√3 + 1)

28. A circus
 artist is climbing from the ground along a rope

stretched from the top of a
 vertical pole and tied at the

ground. The height of the pole is 12 m and the
angle made by

the rope with ground level is 
 . Calculate
 the distance

covered by the artist in climbing to the top of the pole.

Watch Video Solution

30o

https://dl.doubtnut.com/l/_ZQzFKoV3JVAD
https://dl.doubtnut.com/l/_apyljJSkxcLT
https://dl.doubtnut.com/l/_NaoU0E31Ti4w


29. An observer at a distance of 10 m from a tree looks at the

top of the tree , the angle of elevation is  . What is the

height of the tree ? ( )

Watch Video Solution

60∘

√3 = 1.73

30. From the top of a building , an observer is looking at a

scooter parked at some distance away , makes an angle of

depression of  . If the height of the building is 40 m , find

how far the scooter is from the building. 

Watch Video Solution

30∘

(√3 = 1.73)

31. The angle of elevation of a jet plane from a point A on the

grund is 
 . After and flight of 30 seconds, the angle of600

https://dl.doubtnut.com/l/_TA6WEu8hd9Ti
https://dl.doubtnut.com/l/_DlZRx46ECZXl
https://dl.doubtnut.com/l/_hmzhV6JEslqz


elevation changes to 
If the jet plane is flying at a constant

height of 
find the speed of the jet plane.

Watch Video Solution

300.

3600√3m,

32. Prove that : 

Watch Video Solution

+ = 2 cos ecθ
tan θ

sec θ − 1

tan θ

sec θ + 1

33. Prove that 

Watch Video Solution

(1 + tan θ)
2

+ (1 + cot θ)
2

= (sec θ + cos ecθ)
2

https://dl.doubtnut.com/l/_hmzhV6JEslqz
https://dl.doubtnut.com/l/_Lgbiq1B96gU6
https://dl.doubtnut.com/l/_EbG2tZ3qsAQg


34. Prove that

Watch Video Solution

(1 + )(1 + ) =
1

tan2 A

1

cot2 A

1

sin2 A − sin4 A

35. Prove that:


Watch Video Solution

= ( )
2

sec θ − 1

sec θ + 1

sin θ

1 + cos θ

36. Two buildings are in front of each other on either side of a

road of width 10 metres. From the top of the first building

which is 30 metres high, the angle of elevation to the top of

the second is . What is the height of the second building?

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_6XWKWAhmEhod
https://dl.doubtnut.com/l/_nCQqoJkBVPzZ
https://dl.doubtnut.com/l/_D9WcwWAPOSFm


37. If  , find the values of 

.

Watch Video Solution

5 sin θ − 12 cos θ = 0

sec θ and cos ecθ

38. To find the width the river, a man observes the top of a

tower on the opposite bank making an angle of elevation .

When he moves  backward from bank and observes the

same top of the tower, his line of vision makes an angle of

elevationfo . Find the height of the tower and width of the

river. 

Watch Video Solution

61∘

50m

35∘

(tan 61∘ = 1.8, 35∘ = 0.7)

https://dl.doubtnut.com/l/_Pw5ypM6hc39i
https://dl.doubtnut.com/l/_WALKm4g7sEEH


39. Eliminate  if  and 

Watch Video Solution

θ x = a cot θ − b cos ecθ

y = a cot θ + b cos ecθ.

40. If  then find the value of 

Watch Video Solution

cos θ =
√3

2

1 − sec θ

1 + cos ecθ

41. Roshani saw an eagle on the to of a tree at an angle of

elevation of , while she was standing at the door of her

house. She went on the terrace of the house so that she could

see it clearly. The terrace was at a height of . While

observing the eagle from there the angle of elevation was .

61∘

4m

52∘

https://dl.doubtnut.com/l/_jg20qE63TVT9
https://dl.doubtnut.com/l/_YhzUEwUsYjLv
https://dl.doubtnut.com/l/_PxhIPPyMqjZc


Assignment

At what height from the ground was the eagle? 

Watch Video Solution

tan 61∘ = 1.8, tan 52∘ = 1.28, tan n29∘ = 0.55, tan 38∘ = 0.78)

42. A tree
 breaks due to storm and the broken part bends so

that the top of the tree
 touches the ground making an angle

of 
 with the
 ground. The distance between the foot of the

tree to the point where the top
 touches the ground is 10m.

Find the height of the tree.

Watch Video Solution

30o

1. If sinx =  , then cos x = ?
3

4

https://dl.doubtnut.com/l/_PxhIPPyMqjZc
https://dl.doubtnut.com/l/_TxIdkfqsXMwr
https://dl.doubtnut.com/l/_srigHKHqrpeg


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2

3

√3

2

√7
4

1

2

2. If cos A= , then the value of tanA is

A. 

B. 

C. 

D. 

4
5

3

5

3

4

4
3

5

3

https://dl.doubtnut.com/l/_srigHKHqrpeg
https://dl.doubtnut.com/l/_Ai6btks8lfcp


Answer:

Watch Video Solution

3. Prove that: 

Watch Video Solution

+ cos θ = sec θ.
sin2 θ

cos θ

4. Complete the relation in ratios given below . 

 


 


 


Watch Video Solution

(i) = □
sin θ

cos θ

(ii)sin θ = cos(90 − □ )

(iii)cos θ = sin(90 − □ )

(iv)tan θ × tan(90 − θ) = □

https://dl.doubtnut.com/l/_Ai6btks8lfcp
https://dl.doubtnut.com/l/_FKbrzKkqFUyM
https://dl.doubtnut.com/l/_qEo2mSa7jFLB


5. Complete the equation 

Watch Video Solution

sin2 θ + cos2 θ =

6. Write the values of the follwing trigonometric ratios 

 


(ii)  


 


(iv)  


 


Watch Video Solution

(i)sin 30∘ =
1

□

cos 30∘ =
□

□

(iii)tan 30∘ =
□

□

sin 60∘ =
□

□

(v)cos 45∘ =
□

□

(vi)tan 45∘ = □

https://dl.doubtnut.com/l/_qEo2mSa7jFLB
https://dl.doubtnut.com/l/_JLTpi71N45jJ
https://dl.doubtnut.com/l/_BTzq4Td41d4A
https://dl.doubtnut.com/l/_kRlzovXR1cYo


7. A ladder on the platform of a firebrigade van can be elevated

at an angel of  to the maximum. The length of the ladder

can be extended upto .If the platform is  above the

ground, find the maximum height from the ground upto which

the ladder can reach 

Watch Video Solution

70∘

20m 2m

(sin 70∘ = 0.94)

8. Prove that : 

Watch Video Solution

√ = sec θ − tan θ
1 − sin θ

1 + sin θ

9.  then prove that 

Watch Video Solution

tan θ + = 2
1

tan θ
tan2 θ + = 2

1

tan2 θ

https://dl.doubtnut.com/l/_kRlzovXR1cYo
https://dl.doubtnut.com/l/_zvadAVMaKnFs
https://dl.doubtnut.com/l/_6fDyYzbYJOEP
https://dl.doubtnut.com/l/_jng4Fzqd20li


10. A straight
 highway leads to the foot of a tower. A man

standing at the top of the tower observes
a car at an angle of

depression of 
 , which is
approaching the foot of the tower

with a uniform speed. Six seconds later, the
angle of depres

Watch Video Solution

30o

11. Prove that 

 


=2 cosec x

Watch Video Solution

+
1 + sin x − cos x

1 + sin x + cos x

1 + sin x + cos x

1 + sin x − cos x

12. Prove the following: 

W t h Vid S l ti

sec6 x − tan6 x = 1 + 3 sec2 x × tan2 x

https://dl.doubtnut.com/l/_jng4Fzqd20li
https://dl.doubtnut.com/l/_xIVL2GW5hCsW
https://dl.doubtnut.com/l/_r1wW294Rnmov


Watch Video Solution

https://dl.doubtnut.com/l/_r1wW294Rnmov

